12
o
=

o
o
3]

1/0 do/dsqrt{d } [GeVY

0.06

0.04

0.02

[EEY

Ratio to ATLAS

0.5

7000 GeV pp Jets

T I T I I I T | I I I T I T | ﬂ
— — =
. ) o
o Splitting scale \/ d,, (antl—kT(l.O), 300< p_< 400, ly| < 2.0) _g
 m ATLAS e
B Pythia 6.424 ambtl DG
— = Pythia 6.424 z1 —3
u o
9]
u 1=
- |
- 1<
° (2]
L <
| /m _]o
[y =
- _ —
L — X
l .E.
i s
— " mE
- m 15
i IS,
- ﬁ.i ..... !! n n ] 8
_! ! ! ! ! I ! | ! . ! ..... !!ﬂ.nlﬂ _____ n !_ E
— -2
: e 1

| —0.5

l . l . . l
0 50 100

sqrt{dlz} [GeV]



	Contents
	Page 1


